SOCIOLOGY

Time : 3 Hrs. July - 2016 Marks : 80

Q.1.(A) Complete the following statements by selecting appropriate alternative

(1)

(2)

(4)

)

(6)

(8)

given below each statement: ; (8)
UNO is an example of a/an ................. organization.

(local, national, international, regional)

Gram Panchayat is established at the ................ level.

(block, district, village, state)

Youth dormitories are found in ...... R community.

(urban, rural, tribal, industrial)

Social prestige is one of the major factors responsible for the problem of .............. ;
(child labour, dowry, farmers suicide, juvenile delinquency)

Dr. Ambedkar was converted to ......c.ccccoueee. ;

(Hinduism, Buddhism, Sikhism, Christianity)

Indiatis as s it state.

(religious, non-religious, communal, secular)

The marriage of one man with more than one woman is called .............. :
(polyandry, polygyny, monogamy, endogamy)

In ancient period direct democracy was practiced in ........... . |
(Switzerland, Greece, England, America)
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(B) Match the following columns: (4)
Group ‘A’ Group ‘B’
(1) Clan (a) Belief in one God
(2) Intrapersonal communication (b) Dr. Irawati Karve
(3) Westernization (c) Endogamous group
(4) Islam (d) Dr. M.N. Srinivas
(e) Meditation
(f) Exogamous group
(C) Answer each of the following questions in one sentence only: 4)
(1) What is the legal age of marriage for girls in India?
(2) Name the national language of India.
(3) Who started the 'Balhatya Pratibandhak Griha'?
(4) Which is the first newspaper published in India?
Q.2. Write short notes (Any TWO): (8)
(1) Obstacles to national integration.
(2) Causes of gender inequality.
(3) Positive impact of mass media on economic field.
Q.3. Write differences (Any THREE): (12)
(1) Arya Samaj and Satyashodhak Samaj.
(2) Joint family and Nuclear family.
(3) Birth rate and Death rate.
(4) Linguism and Regionalism.
(5) Newspéper and Computer
Q.4.Give reasons (Any THREE): (12)
(1) Globalization is a social process.
(2) Industrialization leads to urbanization.
(3) India is a secular country.
(4) * The institution of marriage in India is changing.
(5) Tribals are facing several problems.
Q.5. Answer the following questions in brief (Any THREE): (12)
(1) Discuss the impact of industrialization on Indian society.
(2) What is the negative impact of mass media on Indian society?
(3) Explain the religious reforms of Raja Rammohan Roy.
(4) Discuss the functional changes in family.
(5) Explain the impact of British rule on Indian society.
Q.6. Answer any ONE of the following questions in detail (about 250 words): (10)

(1) Explain the characteristics of modernization and discuss its impact on Indian society.

(2) Explain the works of Dr.B.R. Ambedkar and discuss its impact on Indian society.

Q.7. Answer any ONE of the following questions in detail (about 250 words):

(1)
(2)

Discuss the causes and consequences of dowry.

(10)

Explain the problems of the urban community and suggest suitable measures to

solve them.
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